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Q.1 When the two hands are at right angles, they are how many 

minute spaces apart?

hx r¶tƊ ¥¬S{©O ¥za¶o v| ¦¶p« ¦å, p¶ Uta² x«f ªapt² ªztk a© QOp| 

¦¶p© ¦³?

(A) 13 

(B) 14 

(C) 15 

(E) 16



Q.2 How many times are the hands of a clock at right 

angle in 12 hour?

12 dOk² zâ dÂ« aĪ ¥­S{©O ªapt« x©| ¥za¶o v| ¦¶p« ¦å?

(A)22 

(B)24  

(C)44 

(D)48



Q.3 How many times in a day, are the hands of a clock in 

straight line but opposite in direction?

[a ªrt zâ ªapt« x©| dÂ« aĪ ¥­S{©O ¥«s« |²b© zâ ~²ªat ª¢v|«p 

ªr£© zâ ¦¶p« ¦å?

(A)20 

(B)22 

(C)24 

(D)48



Q.4 How many times do the hands of a clock coincide in a day?

[a ªrt zâ dÂ« aĪ ¥­S{©N ªapt« x©| [a ¥©q Rp«¦å?

(A)20 

(B)21 

(C)22 

(D)24



Q.5 A clock rings once at 1 o'clock, twice at 2 o'clock, thrice 

at 3 o'clock i.e., it rings the same number of time, the time in 

the clock. How many times the clock will ring in 24 hours ?

[a dÂ« 1 xh² [a x©|, 2 xh² r¶ x©|, 3 xh² p«t x©| xhp« ¦³ Qq©èp 

{¦ Upt² ¦« ¥z{ xhp« ¦³, ªhpt© ¥z{ dÂ« zâ ¦¶p©¦³Ê 24 dOk² zâ dÂ« 

ªapt« x©| xh²c«?

(A)48 

(B)150 

(C)156 

(D)200



Q.6 The last bus from Meerut to Delhi leaves at 10:00 pm 

if the buses are on leaves at the same interval of every 3 

hours and there are 6 buses in total then when will the 

third bus leave for Delhi?

z²|l ¥² ªrĎ~« a² ª~[ QOªpz x¥ 10:00 xh² ªta~p« ¦³ {ªr x¥â 

¦| 3 dOk² a² ¥z©t QOp|©~ v| f~p« ¦å ̀| a¬~ 6 x¥â ¦å p¶ p«¥|« 

x¥ ªrĎ~« a² ª~[ ax |¢©t© ¦¶c«?

(A) 1 A.M.

(B) 7 P.M.

(C) 1 P.M.

(D) 7 A.M. 



Q.7  A tortoise walks 1 Kilometerin 4 hours, rests for 20 

minutes after each Kilometer, find how long it will take to 

cover a distance of 3.5 Kilometers?

[a ag¬R 4 dOk² zâ [a ªa~¶z«k| f~p© ¦³, ĽĀ{²a ªa~¶z«k| a² x©r 

20 ªztk R|©z a|p© ¦³, 3.5 ªa~¶z«k| aĪ r­|« p{ a|t² zâ U¥² ªapt© 

¥z{ ~c²c©?

(A) 14 HOUR

(B)  13 HOUR

(C)  15 HOUR

(D) 12 HOUR



Q.8 The angle between the minute hand and 

the hour 

hand of a clock when the time is 8:30, is

ªztk aĪ ¥¬T ̀| dOk² a² x«f a© a¶odÂ« aĪ 

¥¬T hx ¥z{ 8:30 xh² ¦¶p© ¦³

(A)80º 

(B)75º 

(C)60º 

(D)105º



Q.9 An image of a clock is appearing in a mirror. It was 05:25 

at that time in the clock. If the image shown in first mirror is 

again shown is another mirror, what time the mirror image in 

the second mirror will show ?

rvèo zâ [a dÂ« a© ĽªpªxĊx ªrb©T r² |¦© ¦³Ê dÂ« zâ U¥ ¥z{ 05:25 

xh |¦² q². {ªr v¦~² rvèo zâ ªrb©T cT gª¢ ªw| ¥²[a `| rvèo 

ªrb©T h©p« ¦³, p¶ r­¥|² rvèo zâ rvèo gª¢ ªa¥ ¥z{ ªrb©T r²c«?

(A) 25 minutes past 5 

(B) 20 minutes past 5 

(C 35 minutes past 6

(D)30 minutes past 6


